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Passage:

Gobe:— STt eIt ufoat Uyt faeeiere av: IRaans S e foradl

W o TR 2T GIRY: G | A1 HRA:-RH: T Ogad e iRl aftig= & i) | sriler ST Ud gl WRa: $d oiid g “ufa-iferll 3fa af Peffaq, 1 o e sifRienfy sfa
Y gdeaq | I8 T Gaeavt yamsny s SEa gevy uE |

et @: v ifer: | T wmftisy 7 Ym: v w8 fawfia: st ufarrg wsd 9 wiiwdq | W : sifdaa ua smilq) fg: wider g sraxd gRuilar 3 /a1 gxRus wRof fae o srafa
g I WRAA 2Ra: A € Fal St o SiRRie 3id Soar T AU e W A ure viafge:, Rigma ¥ & wlnme, A atigrman Isd =ik W 1 agan siftread snawf w |

forg: wiomTgRom XA T Pl Iod W f g e sRvgars: wWga: | daraenuml WesHr U aegiEE $ad | srrraaes] S s Rger wad T srgigar| faven: w9 Taresm: Here: |

Q.No: 1 IH T+ Td BT &RRY: Hl:?

A M

B RicaG(l
C ST
D I

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Gz~ Hfelferd et ufdeat T s crasaa: Sfaans S fuwr fogal

I & 1 I G¥RY: Td: | Tal 2R -XEY: I Wigasd e i IR @ Sl | Srileany ST U9 Jiaqard: e Shdl i P “ufa-wifer 3fa af fffad, 7 o) v sitRienfi sfa
WY g3edd | IH Witd GaeAv TSI 3 391 SR, Ta |

feprpeiid @: T forfer: | WO wmftisy o7 IW: g 9 fawifa: et ufarg osd @ Wiedq | W Im: sifaad ua smdiiq fg: uiasr g sawd qrofiar 3fa 84 | gxRu™e wRot e aw srafeai
Fg X TRfaa WRa: 7 3% el iU e SRR 3fd I%ar 9 IHuIgd A W § Ug ufaga:, RigmE 9 d ufasta, Hieuma: aRisErn s 2k 9 | S Sg siRear snawfd @ |

g wfomTgRom AT T Fad e dea i g i sRugar: Wiga: | diarasaomal W U e Har | SFrae] S 36 Fgr WRaF 7 srgiean| fRan: u e qerEn: |

Q.No: 2GR & eifdl B2

A A
B AR

c WA |
D ORI

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
Gha:— Helferad Tt ufden T s carasata: Sfaqars S e fogal

T T T TP GIRY: Ta: | TG MRz -XFY: T A e i afige o Sifdr | Sriteany ST Ud Iagdid: HRe: S Sidid g “ufd-uiier 3f af Meielaq, = o weam siftRienfi sy
WE e | I W GagHt T 3 Sl gaky ua frfa:)

Page - 1

fomgeat & v fafer: | Wi sy oF Tm: 9 98 fRfha: st oo e 9 Wied | IR I e ua e fig: wiosn G srad gRvitan sfa g | SRRy wRvt g oW st
g I WRAAE] WRa: 71 978 Har if I SRRy 3 Saat 9 Imuigd ad W § wa wfafae:, Rigem 9 @ wiagra, Aieame: afgrran I ika W | 9 siftuRmar enawfd T |
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Tig: TRRTQROM 07 7 Pt ey dead S g < sRugar: Wiga: | WdraaHumat 19wl U dagiEe $a | SARTEe i e F:geu wRad 7 Sigiead| fIRe: 19 TR Hele: |

Q.No: 3 ¥ 3§ gy SifRieaA | &g qeAfigH?

A |
B IRl
c vl
D TWRYE|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toha:— Sfefferiad el ufd@r gy fAseaaeRea: Sfadarm SW far forad|

I & T TBI &XRY: 7| Tal RN F Agasd e Siiq aRis o i | SRl SR Td Jagar: HRa: dadl o P “aia-aiter 3fa of fifafag, T o T siftRignfi 3fa
WY FeTq | IH it qaert Tty 3fd S R U9 ffa

fergeaHt @: v fafcr: | T gy a7 Tm: Sg g fowia: st ufavg ot 9 WiegH | IR W sifdae va smiiq) fig: vfosm gamn siawd qofian sfa g | SRRy wRot ae a9 srafsat
e I WRfqaM 1R 7 ofF Har Y e SifRienT 3fa I 7 IMUIEgE I W we ufafraa:, RigrE T @ wfasT, At s I ika 9 1 6 ag iR snawafa T |

Tig: UTARITYRUT 807 7 Hael el dead Y g < sRUgar: Wiga: | WdIdsHumnal a1 U deagiHe HaH | SHRTEesH il st F:geu +Rd 7 Sigihan | favdl: Ta TdRe: Hele: |

Q.No: 4 ey - o wmM v form vga?

A T
B TERHI
C Crelf
D Hall

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Goba:— SfeNferiad reriel ufd@r yumi flserrasay: Sfadary 3w fwar foradl

M G T NPT SRRY: T | AT R - T A e oefiq afig= dt ol | srileam] ST Ta Jdaia: HRa: b ofdiid P “ufa-arfaqt sfa af ffafaq, = o oo siftRieny 3fa
WY dead | IH i geeqet ety 3fa Sa@n gary ua i

fergeadit §: v fifera: | IO i oF Ym: 98 §g famifia: et favg Isd 7 wWiwdr | R IW: sifdwa v el fg: vfomn g siaxd gRofian 3fa v | SRy wRet e aw srafesat
g I WA 1R 7 g wer i ey siftRieanfiy 3y Sor @ mugd g W @ wrw ufaftge:, Rigr T 3 wfosTe, At ol s ks w1 S agen sifeRmay snavafd @ |

firg: TRRITIROT 07 7 Fae oy Faar S g < eRvgary: Wiga: | HarasHomat Wwsdl T JagiHe S | ARG i I (990 4RaF 7 Siipan| e 19 Taes: HeeT: |

Q.No: 5 YfRITGRUE - 1 fafes:?

A Tt
B =geffi
C gt

D gt

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Toha:— fefferfad el ufdwr wumi faserarsaa: Ifudary 3w fr foradl

W 71 TP SIRY: 4 | &1 4R - T Agad (e i) aRag o sl | Sriiear SIFTe U4 JMgal: Ra: S ofiid P “ula-aiicH 3fa af fnfafag, 1 of s sitRieanfi 3fa
WY dead | I Sl gaeavt vy 3R Saan gy @

ey g: Yo ifera: | IO Smidiey oF IW: g o fawifa: smiedt ufard T @ it | IR W stfaad U et fg: fomm g srawd grofiar 2fa & | exRy Wi faE o= srafsar
g I WRTAa 2Ra: 7 ofg war Sl e sifRlefEr 3fy Soar @ g g w1 A wrw vfafg:, Rigrm 9 3 wlasr, AfReumre: sl s ik W 1 F agen sifrigay snosafa w |
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Tig: TRRTQROM 07 7 Pt ey dead S g < sRugar: Wiga: | WdraaHumat 19wl U dagiEe $a | SARTEe i e F:geu wRad 7 Sigiead| fIRe: 19 TR Hele: |

Q.No: 6 HRaH f&F gay snawafd w2

A LegeiEal]
B Tt
C TS
D SRR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Tha:— fefferiad el ufd@r gy fAseaasRe: Sfadarm Sw far forad|

I & T TBI &XRY: 7| Tal RN F Agasd e Siiq aRis o i | SRl SR Td Jagar: HRa: dadl o P “aia-aiter 3fa of fifafag, T o T siftRignfi 3fa
WY FeTq | IH it qaert Tty 3fd S R U9 ffa

fergeaHt @: v fafcr: | T gy a7 Tm: Sg g fowia: st ufavg ot 9 WiegH | IR W sifdae va smiiq) fig: vfosm gamn siawd qofian sfa g | SRRy wRot ae a9 srafsat
e I WRfqaM 1R 7 ofF Har Y e SifRienT 3fa It T IMUIEE I W W ufafraa:, RigrE T @ wfasT, At s I ika 9 1 6 ag iR snawafa T |

Tig: UTARITYRUT 807 7 Hael el dead Y g < sRUgar: Wiga: | WdIdsHumnal a1 U deagiHe HaH | SHRTEesH il st F:geu +Rd 7 Sigihan | favdl: Ta TdRe: Hele: |

Q.No: 7 &=RYw Wi Ade a1 srafdrar e I mitfaar] wRa: | gaaus e foraal

A RO
B e
c Gt
D Gl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Gobat:— SfeNferiad wreriel ufdar yymi flserrasay: Sfudary 3w fwar foradl

M G T NPT SRRY: T | AT R - T A e oefiq afig= dt ol | srileam] ST Ta Jdaia: HRa: b ofdiid P “ufa-arfaqt sfa af ffafaq, = o oo siftRieny 3fa
WY dead | IH i geeqet ety 3fa Sa@n gary ua i

fergeadit §: v fifera: | IO i oF Ym: 98 §g famifia: et favg Isd 7 wWiwdr | R IW: sifdwa v el fg: vfomn g siaxd gRofian 3fa v | SRy wRet e aw srafesat
g I WA 1R 7 g e iy ey siftRieanfiy 3y Sor @ g g W @ v faftge:, Rigr T 3 wlosTe, At ol s ks w1 S agen sifeRmeay snavafd @ |

firg: TRRITIROT 07 7 Fae oy Faar S g < eRvgary: Wiga: | HarasHomat Wwsdl T JagiHe S | ARG i I (990 4RaF 7 Siipan| e 19 Taes: HeeT: |

Q.No: 8 WRd: TRY: ¥ AIGUH [Hebe il 36 &F: THR:?

A <
B REl
c gl
D g1

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toha:— effafad verrt ufdedr vt faserera ey Sfuaany S fwr e

i Shoffy ze fagm
AT TG TRISTRI |
T TR fagra Sfurf-
T Farfa Tar & i
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Q.No: 9 ‘fagry g0t uer: 3if?

A &l
B @
& o
D aq

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toba:— Heffiad verii ufdear wami fadsereraea: Sfuaany 3w fr e

qrify Siuffy g fagr
aIf I TRISTRT |
qu1 TR fagr Sfof-
T Farfd Tar & i

Q.No: 10 381 3T TR -

A WR:
B HHT:
C HIdS:
D STl

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hha:- el g ufden wumt eceeaa: Siuaars Sw e foeal

T s g fagm
&I I ST |
a1 =R fagr suf-
T it & & i

Q.No: 11 U¥Id Xalid 3T UEIIi=T ?
A
B
C

= B~ W N

D

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toha:— el gert ufgr uumt s earaea: Sfuaan Sw e feal

qrify s g fagm
el eI TISTRAT |
T SR fagT Sforf-
ERIERL R R

Q.No: 12 T¥qd i foramig o -

A I
B g

C Foft
D Jam
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toba:— AeNfiRad werii ufdear wami senasas: Ifiaany Sw fr forad)

iRy STty 7 fagm
A R TASTRAM |
T IR fagra Siorf-
=1 gt T 3R 0

Q.No: 13 'Taii-' o facime AR -

A RIG
B S
c TR
D smyfe

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

G- siefifaRad Teist ufew Uyl fieaemes: Sfadar S faar el

iRy SHuif T fagm
A TG ST |
a1 RIfn fagr Sfof-
=T i T4 3 0

Q.No: 14 i’ A oIg IUY S -

A T, 4T Ig:
B T, T UIg:
¢ T, IR o1
D o, T YIg:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Teha:— Sfefifid Ters Ifden uur Recaeea: Siaars Sw e freal

araifty Siuffy g fagrm
AT TG ISR |
aur TR fagr Sfiur-
21 g e afe i

Q.No: 15 URaaId <: Teid |

A ERIE TS
B RGP IR T
C I B
D I B

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 16 ... faam aifr 3Ry arergf Toa

A 3
B ™
c EC
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D w
Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 17 3 J1ed farga -
A T Y ey

B Eriakeic)
c T gy
D H =

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 Ry: --- SRy 3 RaRm Tt 08 frmpe

A A

B T
C T
D 0T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 19 b g geARa?

A T HH YRa eI
B TERIS: M7 ST

C o & ud irsfi?
D i e R

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 20 "TgfHf: 3 Tew @ WFR-fde: wafa:?

A Y+ Sh:
B ag+3fif:
C Y+ 3M:
D AL+ S

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 21 HIEF U WY UGF: MK -

A e
B foo
C fum
D fur

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 fparieamn: Rigraw s 1 Sifikd-
A T RIgr:

B e frsra:

C e Rigr:

D yruRierarEn: Rigra:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 23 BT Fat [ qeai, RO siasie arsny T WERd gaidl
A TSt

B UIGIYRAHH
C T
D TRIfi&u

Correct Ans : B
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Subject : Sanskrit Bhasha 02

Q.No: 24 HgM™® AIEAiv S e: 3T 2

A S
B Tieadt
C s
D wiaa

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 25 ARy &1 qd Hfsharaes-faare e dmn Tiika?
A M- BB TgRE:

B YRt AR fa@m:
C S-S
D SepHTTar

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 ST Fadt HUHYTH Hgwqul HffieT Iekd, Ia:
A Taq AR gar |

B e Wy i i |
C Rierre fsmand wewmE FAR |
D T HISTEE: 99 0 TR |

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 27 BHIUI WGl Urekiieh URUIEBIRY HITY T
A nfms S SET Ty

B PRI
c FrTfeuTeamHT faR uee
D ‘?F[@:[ BTN TH&H

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 28 VIR SgHIi®E Hafa

A =Y |
B ElLy

C HR:

D Tl

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 29 BE ‘qglay-IM- Hira fawre e Fd &: anf: Iam: 2

A - XA SE: FET Uyl SIedr:

B UTS-Sfaarerf ST Jaersar S SRg:

c BET: s e W T wamr fmfomf dfvade:
D B Fo SHISYATHS PTAIH STERT: FAAT:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 30 3wyl Pail uaRIgH SIeRaTHRTY $ Hew gaaad Si&i?
A T SftFFRieiFm Sud:

B BER: TP TIAPEH ¥ TG H

c W U ST $d BE: AR

D BEAW: AfH UG T BRG]

Correct Ans : C

Subject : Sanskrit Bhasha 02
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Q.No: 31 T I & ST | TR e 781 &
I HTST STTH! & T 7 R vd e &1 A §

A
a1 A fraR-faf g & e R
B
A1 T e 1 9IS A §
C
T AT ST U Y e @
D

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 32 es UgR GHE SHH-I TR Juged T §

A HER UGl

B = & B ST Hag gaarT
C Tl ¥ Aed B HIA FIAF
D U 9 gl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 33 Higar UIe F37 I faenfifal 3 fpw eif¥reafda &1 fam dar &2
A Aies-sifreafd

B B ceanifeiiesich
C Rifea-sifiefd
D q-HNART

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 34 WUfiE TR W G ST I F e § SH-W faftal ofie wems &
A FEM B AR YA

B P TS SR TS TR
C e fafg (I9-w) SR TR A
D 1yfrepT fafe SR arerela &=

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 el & Upfa & 3rgga [FaR- [ &1 Agan deq f # 4 -1 82
A Rt v

B o=t amen
C =t T
D TIHTST

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 36 fm1 1 § Ty Rygmr &% e fafdy wA-h @2

A Faa W Ay

B Faq yaaq fafy

C Faa Sgru R

D g Y, vae ol wd Sgiem fafy

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 37 9 & ¥ naH-fafy forg Rueror-fafy & wefya g2

A Te-fRaror fafer
B Ta-Rigor fafy
o Ba-fRamor fafy
D SrcimR-Rigo fafy

Correct Ans : A
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Subject : Hindi Bhasha 01

Q.No: 38 =1 9 @ fyved 51s o el @1y e @ 82

A A% TP & UL P
B d® af geaie
C Faa AIfE ¥U Q TR S

D TAF T & Jd G

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 39 719 # § 9f &1 nuIfdd FxA /At SRS HH-T/4 72
A qaiaRu]

B W
C 3R
D TafaRu], WA T SRR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 40 11 e 31 Al gB1:...... ... R R = A
A & HIST

B qar-ugfa

C - 3afy

D Tl B KR, 1 AR TH0T

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 41 T # § 1 STARIES {11 &1 ¥ TP T T 32

A o 1 e § ey wRf F ERM gD T G
B GorT T UIGT-YEIS $ Walgqul akids § UgeT
C e T Ugd T ao-t gt SIS BT Wi R

D g 1 we F Ry o1 & GRM SAFgdS A G

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 IS P UY-Jieh & U U381 &1 T Hea GHY 941 Jaiitls Heayul 87
A et @t FE

B R dae! B TET
[ ¥ U16 S F=1 F W AP & 9l 7 9|
D ¥ U5 o MBS U & ol &

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 43 el § Y- P &HaT SFATA gt § 3fd:?

A IS} $ & BT IR AT B §¢ HIRl Praw Ryame s T
B = B U WIS URRaxT U HRMET ST AUl

c HT-Rigior 1 HrE 1 foar s e

D HTT-R1&f0r &1 F W W E fean o Ay

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 44 HIGHTHT e o1 Rigld 78 8-

A SRR @1 Rgia
B 1 Rl
C Rorareiiaar &1 Rigla

D RERIRERT A

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:
g i feT T T B geaR U MU U & a9 Ifad IaR aK [aded o1 9 $ifore-

S 3R AF9-Siad &7 Y S 9fes g1 aad | o g oiiad 31 faxa 3t uge Wi o1 o 991-991 Afed & R € gon 81 9999 9 € 81 9ia Bt Suaiiar, adar iR Fefad & eRor 3Eat
IR i B o W §1 forg T F A oM SR Sam # gad! TR SHiF- SR BT 3R 81 59 SRl $ a8 Tud 334 €, FH R & I o ud el sl wfafem wri, Aty
IR il & R A B §1 SR Ty g S IR U W T € Wew IR Xiad o # R o B Wit € 6T 79 1 il o v dRar §1 e siFe Bt avg §F & - g
ffazgmar +ft §1 A & ST T & AN GSH-AN 7 89 W TE guX 9 aHt i 9a § O I8 kAT Sl B Syt fedl A 9| Urde ora ® 19 et off 2 9@ o aer B (ke g Afedl 1 R
AT TSl o1l fang R & fore anfem vy Y Ferg € e iR ufem A TSt EI, e I o TR @t ifa SRA @ SIS et A€ 81 ST Al offe Siarohial ol Wee TR0 aRd &
T A I UBR ORAT YR BT 7 fbar FR-4R 397 39 F § g g wia R o 75 sie et v war & wu & fF o ot 1 e & o oft Y@ viodifart s 3t o 8, S SRt
yferifiar sifard wu ¥ wfifRm ot o 1

T RIS A Y F U T 8, AR § iR W a1 FAer &1 g wre oft, e o & o ok el & i afe oy R S € @ T & R wS i) 19 it ufden A 3
T el | ARY, el IR DI SR ST G ot S5 ST &1 181 oRTat @t Ui & T Ty S faorT ofR BT &1 SiUR Sfg +ff UId o 9dhd g

Q.No: 45 Iuded e & fo S <ive &1 7g7 Fifme-

A R TF Far

B HRel et

C TS B S ST
D GRCARTGUIG|

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
&= A e e e ) vgaR U e U & w6 SRd IR 9 faswed &1 au -

W AR TE-siad &7 W6y e U ¥ arad B oid 8 ofiaq 21 faxa 3t v IRt o1 o 9)-a€t A % AR € gen 71 s9u & 81 oid Bt Sudifian, e iR Ffaar & eror swt
SR ST B 31 3B T1 f5g 70 & 4 ToM 3R Jarm & @ T F SHF- SR BT 3R 81 8H SR S $8d € 79d 384 €, 3UH oA & U1 39 94 Tew! i ufafed I, At
R el H BT BAIfEE IR T iR T € 3T SRR 4ot WY 7@ B W9es SR Xfiad St H ORA1 aF &1 Wi & T 79 1 it off Ue wvar @1 Rt o 35t 9% 81 & - g
gz +ft §1 AR F SR T & AT TSH-A A g W TH R I At i Tomd § o9 S ORAT otanr 1 Sqeran At ¥ A 811 uieie ra A1 gl off 2 79 oerht & Raw @ A Y uR
TR gl ATl fobg Ok & o snfem wgsa &1 P € vaet SiR uRem o3 Ut B, i SuH o wifordt it wifty SRS B TS el I B O # Aol i Siasiidl 3 W [ SR 59
T 3 3 UGR KA1 WA 1 vaed far ofR-dR 399 39 orf # gait Mg una o) @ [ o R T pan & w9 H i o ot 31 fawe # o of S v smiferg 3 wifd §, 5 ariast
g sif~ardf =u § wffrfera o ol 1

FEA: RIS 3 31 H TP T 3, M 7 iR G qut FARker o1 g e o, el ofd & o R oferdi & ) afe 3y IRAT 94 § a1 7d1 & IR TS Siapx 1d Bt Ufdlell S 3
T el AR, T IR ST SR ST e ot F13T1 ST &1 A SRt Bt Wi H 4T A oy faor $iR | 1 SUR Sfe +ff U R Wb g

Q.No: 46 FrfiEd # A A T &H a1 far &2

A & ¥ 7 orig e 31

B T 3 o Tphf e 81

e R Y TR v B =i el 1

D R A 5 ofFig & Y- Ef SR T Y iify vt 1

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

P& AT RE T T B yeH g T URAl $ e 3Rd Ik art [awed o1 9 Fifie-

@ IR AFI-SitaT BT Y6y 3d U g1 aRad B oid &1 S o1 fawa ot v Swpiadl &1 o0 ai-a<t At & R & gon 81 s9ue ¥ & 81 o ot Iuaifian, Rdaar SR Fddadr & SR 3E@!
3R S B o B T g 7 & - oW oIR e § gad! T H THIF-3T9HM BT 3R § | §H SR/l 31 &84 81 799 364 §, SUH ¥ & [T 3o ¥ Ygal saiad uRifet 9, Afedr
AR Fl H R AT FR T SR Y € 3T IR ST W WS § | W SR Xfiad Sta 7 SRA1 a7 &1 Wi & T 79 B i off v wkan 81 Rt e @) avg 8 ¥ wy-an g
Sffagaedr Hft §1 AR & SR Tid & T TSH-A1T 7 gH W Th gor A 3t e T6d § a0 S8 ORAT 3111 &1 3pyan Afedi & 1 811 wreiF ia 8§ 19 del off 2 a9 o snert & Raw & Al : ur
AT gl ATl fobg Ok & o enfem wgea ot g & vt Sl ufem &3 Tgt 8, i SuH o TfoRil it wiftr SR Y et ema I B1 o # T SN Siasidl 3 Wee AR B 5
TS 3 I UHR oRAT YR BT W o diR-e 39 39 e § gat Agurer ure R off 6 o Rt U e & = u 3 R 9 aft 31 faxa 3 < o @ vforhfrant smiifsra @t sifa g, S aRrat
yfeafivar sifard wu § wftifer ot ol &1

JEIA: RIS T 1Y T T T g, AW § R T a1 THRe &1 g T1e oft, e o & o ofR ol & a1 afe s IR 9 § @1 7 & R @S gia 719 &t ufdell &7 3
wed 2T ART, et UR ST SR ST T ot SFISTI 3o € e SRTat it wiofvar & 4 e 3 faom SR Tl 1 SR sie ff o 9 I B

Q.No: 47 IJRfa TR F SFHR YoId: T FU PT 94 PIforg-

A faxa 1 v SRepfdl &1 o BId-21et ARl F R & gon 1 wauE @ € 59 o Ft S, ftaear ok e & SR SuaT SR orewiia B o vg 71
B foxa 1 v SRepfodt &1 9 STt ARt & 5N @ g 1 Suue @ € oW wa 3t Judifivn, Xawar SR P & e sue ok efia @ e
C = 3 v Sl 1 o BI-aet AR ¥ PR € gon B sawE ¥ € 5 WA 3 Sy, iadar ik Fien & PR 3@t iR eid g1d o7 %8 B

D e Bt v phdt BT S S-aet ARt & AR @ 5o §1 Suue ¥ & 79 wa B Iudifian, iqer ok Fraar & eror suat iR sneifa 8 o )@

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

& i faw Tu TR Y UgaR U U URA & TaY 3fd IR it faFe &1 99 -

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/45
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o IR THe-sitad $1 Yy s 9 s g1 arad B o g offad 21 faxa 3t U Wt o1 o 931-5<) A & AR € gon 71 99uT I & g1 9a $t Iuifiran, adar o Ffad & sro 3wt
SR ST B ol B §1 g 70 F T oW SR Fa § Ga&! T H HIF-39HH BT 3R § | §H SIAR[KI 31 &84 81 799 364 §, SUH o & [T 3o Y Ygal aafad uRife S, Afedt
SR il § R wEfarE R TSR T € 3o TRR Yol WY e 71 Wew SR g sta § RA1 a7 &Y WEfd & T w9 @t =ity ot vem avan 81 Rt e @t avg 8 % ar-un g
Sfagadr Ht 31 ARE & STTURT T & AT TSH-AFT 7 84 W Th gk A At e hd § o S8 ORAT 3111 &1 Speyar Afedi & 1 81 wreiF ia 8§ A9 wgl off 2 a9 o siet & Raw & A : uR
AT ISl Tl fhg R & e anfem vy 1 P g wae SR e 31 UST 81, Riifh IWH oI WO @1 Wi ORA S SIS AT 8 o) ST § "o ofif Sidoiidl ol W [eR0 $Xd ol
TS I TSR RAT YiRa BT W o fiR-ek 39 39 o § gat Ao e 9 < 7 o Rt U Fen & =y R 9 @ft 81 faa A 5 o Ga nforhfrant smiifsa @t sifa g, S aRra
wfeifiar s wu § wftifiE o ot 71

I IRIB A 37U F U Fam 8, M ¥ AR A qu1 HAReH &1 0 wrer o, arh o & o ok el & g afe sy R S € @ Tl & R WS o T 9t uiden s
Sed e AT, et UR SR SR ST T ot SFIRTI 3o € TeT oRTa! Bt wiefiar F 4 e 3 faom SR Tl o1 SR 3ie ff o R 9 B

Q.No: 48 TRTaRT 31 & 3 TGferdi & am” &1 fv 7 4 7 o 2

A TP HR T A T S’ A W B
B - B |

c wwHf g

D TEARATE |

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= i feT T RS @) geaR g Y UK & e I SR aTd faded &1 99 Bifere-

@ IR AFI-SiiaT &1 YeY 3d 9 §1 aad | 91d g1 oiad 31 fixa &t uga Swpfadl &1 o 981-98t Afedl & bR 81 gon 81 999 ¥ & 81 o &1 Iuaifian, Xadar ofR Fraar & SR 9@
IR i B o W) T g Fa & M e/ oIk Srame § gea! TR § S-S BT 3R 81 59 SR/l $ 36 8 I9d 334 ¢, SUH RA & U ol i el safd wlafem i, Aty
IR el F Wb TG B &1 AR Y B SO IR U W T B | e R aa o W IRAT1 @ B Wi & T 1 B i o wee ke ¥1 Rt e B 9% 9R $ Wy-9ry g
gzl it 31 Al & SURT Tia & T TSH-ART A g1 | TS guk I 9+ 1 T § 919 S8 aReA1 STl g1 i@ Afedi o 1d 51| ieiF & B A9 ohet off 2 7@ @ oer &1 (e g1 Afedl 1 aR
AT IS U1 fang TR & o anfem vy 3 Farg € v iR e 1 UST S, R I o T @t ifa ORA S SIS &l ) © ) ST Wl ofife Sictolidl ol Wee fwR0 $Rd &8
T 3 I UBR RAT YRaA F1 T b diR-eR 39 59 S & g Ao urd R ol 5 o Riat t e & wu § i 9 aft @1 faxa § < o Sa viafrand smiifea @t sifa §, S SRt
v sifard wu & st ot o 81

TIA: CRIDT T 3T F T Fal &, AAH § 3R WA T FARSH H g e of, gt om & o ok Tofert & am | afg oy 3RA1 96 & A 71t % AR TS SR 719 31 uflen oA &t
Sed 8T ART, At UR ST AR SO T oft SIgT ) S & e SRTabt B wforfvar F 4 AaR oy faor oiR @ &1 eR e o vd R ued §

Q.No: 49 FHfRId & § dY eg &I 99 Bifore-

A farcoc
B TR
C SSEl
D R

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
&= e fw T T B yew) g U uRAl & e 3fd e a1 fawed o1 9 $ifre-

S 3R AFE-SilaT $1 96y 3id Ui e 31 arad ® 5d & S 21 faza ot wigRa dpfadl o1 o=y ad-at Al & R & gon §1 wuue 9 &) vw ot ot Iuaifian, Xfadar SR Pddr ¥ sror 3wt
IR Y B off R T g T F R oM SR S # gud! T THIF-STAF BT 3R ¢ 59 STaREl $ G 8 T 384 §, SUH Ok & R ST 9 Yol oafga wfafee i, At
AR il § RER AAIfaIE IR T SR Y g oA IRR Yot WY TG §1 e SR Xfiad Sta B ORA1 aF B Wi o Tal 74 1 =it o T R 81 RISt o 3t I 81 & -9 g
frazaen oft 31 A F ST TG & TN GoH-AF 9 8 | e gax 9 aft i Id & S/ I8 ORAT ST B Sruar fed # A 9| urde ra & 19 Fet off 2 99 o sner B (ke § Al 91 uR
AT gl ATl fhg &RA & R snfen g &1 Fga & vaet iR uRem v usT 9, FifE Sud o WItR Y wift ORA Y Srea el IS B O F o onfe Siaeidl $ W R wRa 39
T A I UGR AR YRGBT 7 fpar FR-eR 397 39 Frf & g Fgurer uia R o 7 oie (Riat v s & wu F el o ot 31 e & o oft S uioefart smiferg #t o 8, S aRat
yferifirar sl & § wfmfaa o ot 1

TFGA: CRID 3T 3G T TP Hal §, A ¢ 3R WA a1 TARer H1 frg e of, artt om & o oiR Yoferdt & | afg oy 31 IHd § @ 1t & R ©S SR 71d &f URien $33 &F
S AT ART, T UR ST SR 0T T ot SIEUI S @ TeY SRTat Y iR fivar 7 4 AR o faem SiR B &1 oR ofe o T R Wed §)

Q.No: 50 FafifEa & A YA I Wsg &1 TG4 PIoTL-

A fram
B i
( gaar
D )

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
&= A T T T B deH Uy TN UKl & Y IFd IR aN [aded o 99 $ifere-

W AR AFE-Siae BT HeY AT U ¥ aRad B o g siad 21 % 3 v SRt o1 o 981-52t AR % AR € gon 71 99u 9 & 81 9a 3t Suaiiar, daar iR Frefadr & sro sawt
SR o BT o R T g a0 F M 7o SR SraRr § ga@! T H SHiF-SHM BT 3R § 1 g9 STARMEl 3 6 8 79 334 €, IUH R & I o Ul Ul safaa ufafes wni, Afedt
IR et 7 R TG A &1 SR Ty B ST IRR U TR T B | e R i S H RAT a7 B Wi & T T B Wi of wer e §1 IRIST FT B %G 9 F IY-9 gy
gzl Ht ¥1 ARG S STURT T & AT TSH-AFT 7 g4 W b gor I aft e Tha § S S8 ORAT SiaT 21 3reyar Al & 1 811 wreiF & 8 A9 g off ? a9 i SieH &Y R & ARl B uR
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SR gl ATl fg ORA & R onfem v &t Fga & o oiR uRem &3 vt i, i Sud o TR Y wifd ORA Y SeIea emal A B I F T o Siareidl 3 Wee e ek 34
T 3 I UBR R YR BT T K fR-eR 39 39 B & 3o+ Fgurr und 9 o 75 o Rt U Fen & wu § R 9 @l 81 fava § o o @ ufodfiant smiifra @t sifa 7, S SR
wferifitar sl wu ¥ wftifa o o 31

FEA: RIB! T 3G T TP Hall 3, A § SR WA T TFReH S g 9rem of, arh om & o ok Joferdt & am) afg o 371 91 8 @1 At & AR €S o 19 3 Ufien o3 @t
S 1 ART, T uR T SR ST TR Wt SFIgTI S € e SRrast B wiofvar F ym Qe 3 fasm SiR wfa &1 SR sie o v 9 gea B

Q.No: 51 ffiiea # ¥ ‘s’ o fadm wss 1 82

A s
B gl
c S
D TR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
g A T T T B ge@R U U Ul 5 999 SRd <R I [ded BT 90 Pieig-

T IR TE-Siad ST ey S 9 g1 aad B o g Sfiad 21 R 3t v IRt o1 o 981-5S1 AR F fFAR € gon 1 I9ud I & g1 9a #t Suaiiar, dadr iR Frefadr & srRo 3wt
SR i B off R T g 70 F T oM SR Sramm 7 ga@! T B SHiF- S T SR €1 89 SRl B SEd 8 Tad 334 €, S R & 8 ol Y Yl safa wfafes anwi, Afedt
IR el & R TG B &1 SR T &Y SO IR U TR T B | e SR i S H R @ B Wl € T o7 B wifa o wer wvan §1 Rt s ot avg 89 & wry-ar gun
Sazadmdr Ht §1 ARG F SRTURT Ta & A TSH-ART 7 54 | U6 g2k A aft e Td § ofF S aRAT o &1 3rar Afedi & 91 g1 WieiF &l 8 =19 shgl off 2 a9 aF oiert &) R & A 3 uR
SR g o1l g ORA & fore enfem agwr & e & vae ofR ufeny S Ut v, i S o WifdRl &t Hifd Ok @t Sa &l el 1 i H T efife; Siersiial ol Weg [ERu dRd o
e A U YHR R WRe 1 wae farar IR-4R 399 39 1 § 3o Fguiar wid o) o ot et v wen % T A o @it 31 fag A S o Qa vfodfand s &t onfa 8, 3 et
yfeafiar sfad v § wftifE o o 21

T B A 379 T U Fam 8, M ¥ AR QA qut FARSH 1 g e oft, g o & o iR el & g afe e R W € @ T F AR W i) 9 3 ufden B
TERd g1 ARY, el UR BT SR ST oy ot §gUI 3 E1 A SRt @t uiaiiTar B YT AR Sy faor SiR B BT SiUR 3ie Ht ud #iX u@hd B

Q.No: 52 Fy=ffEa & 3 forar vreg o1 waRT Sudfort iRy & =il fosan e B2

A U
B wicaier
C ST
D Lrs

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

FEwT: BTeIi P UGH I 7T U1 & T IRd IR a1 Iy HT1 907 PIig-
FURY | R - B - T |
AT WRIMT H - U |
AYTT BT AR F,

ol 31 I 38 T4 ?

e - 91 7 & wea !
it Sreiel & BRI ¥

Ieit 9 I fafdy @ !
FURY | R -0 |
ferer Hg 3foH WI-g%d;

T ST F IR WA

ay & 9 & @l - ga;
U ¥ el SR - IR

W I et - faem
FURY | R - - =i

Q.No: 53 Hfq 3 Iuf &l gt Y 3 -

A TR gad
B FR gt
c s
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/45

Page - 12



D Ry
Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

FE: T &Y UgdR I T YAl & Jad Sd IR Il Ao &l 797 PIore-
FURY | RO - S - U |
AR WO B - I |
YT T ISTaUR H,

ol oS R 3L A ?

B § o oI 3T,

e - W1 7 § FEE |
2irft sraet & BN @

Tt ¢ R fafdy a
FURY | R -0 |
Rider1 g sfeF WI-g%d;
T SET F W-R IR
oy § A F Wl - w;
dlyes § Al §R - §R

W A forerad - faerm !
TR | ORI - Y - TR

Q.No: 54 "gerarar ol % died # o fpad 31 8 2

A uf ga&t
B T &
C S 9
D SRfag &

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& Sroiw &) UeeR g T UL F ol 3T IR a1 faded 1 99 Sifi-
FURY | TRT G - B - U |
AR JRIHT B - 1Y |
AYTT BT ISR T,

o1 TS 158 I ?

B § o eI 3T,
fRrgwr - w1 7 § weRA
2Rl ot & BRI &

Tt g8 P fafay a9 !
TR | ORI
ferer g siv -3,

= A WIW A

7y F & W - Ba;
2iu® ¥ &l §R - SR

W I e - faem !
FURY | OR1 I - H - g

Q.No: 55 T 7 IelauR ¥ auf Yeit fopeTep! o ag 32
A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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B EaEa
C q&f 1
D Tal Bt

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&R FToH FF UgHR Y T TRl & a9 3 I<R I [AFed 1 797 Fifore-

FURY | ORT G - H - T
TERICT YRIHA T - U1 |
YT B ISR H,

o1 oS T 3¢ I ?

g - a1 T § e |
2l ot & BRI 9

It ¢ A fafay
FURY | R TA-H- !
ferer g ofer W32 ;
o 3T Y TR T
Y T T & WOl - fal;
0% § 1 §R - IR

A Iiae ferere - farem !
FURY | ORI - H - I

Q.No: 56 "' - A DI - B ufed § aHR § -

A FUD PR
B I SEAHR
[ STUN 3fRiPR
D JUAT 3BR

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

&= ST B UgHR YR T URAl & Yo IRd IaR a1 [§Hed BT g9 Sife-

TR | R - B - I !
SRR IR B - U1 |
YT B ISAUR H,

€1 31 I 58 I 2

i § R gore 37,
e - 91 T 8 g !
it Sl & BRI 4

It §¢ I fafdy @ !
FURY | R TH-HR-URT |
feruer 7g sisH WI-gga;
9 e I R-|WIRA
oY H TP T - B
diue ¥ el §R - IR

W Ioaa e - e
FURY | RO - B - I
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Q.No: 57 "3ioF" &I aray ¢ -

A P A
B Pifera
o Pl

D FATTY

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FE: T FY UgHR I T URAl & Jad Id IR a1l RAhed &l 79 PIfore-
R | R U - S - U |
AR YR & - I |
AHTIT BT ISTaYR H,

o1 oS R 3L A ?

iR § & qorel 3T,

R - 1 7 & e |
2Rl sraret & SN @

it o R fafdy oy
TR | R -S|
fermer 7 Sfs W1-gg;

T ST ¥ W I

oy ¥ P @ - G,
& 9 SR - SR

W oA forered - faerm |
FURY | R - Y - TR

Q.No: 58 "Ry ORT T - B - U" H RPR S -

A THS PR
B FAE SAPR
C TERTPR SAPR
D FUF HADPR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

FE=T: BT FT UGHR TP T YA & T SR IR ad fpeq 31 997 Fifor-
FURY | R °A - B - U |
ARl GRIHT - T !
AYTT BT IR H,

o1 TS 32 I ?

B § o oI 3,
w1 - W1 o § W
i Sreisl & BRI 4

Tt g8 P fafay a9 !
TR | R O-H -1 |
Rrver 7g sie wI-g%d;
T T F W-|W A

9y F & W - Ba;
2iu® ¥ <l §R - SR

A Iiae fread - e !
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TR | R - HY - U

Q.No: 59 "3eRY" & Iuf § -

A 07
B U
c o
D o

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 60 1 % § 'R T g &1 ST el arar I & e e g o gnm 2

A [EREL
B SN0

C STET
D TG

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 In a race, one person runs a certain distance in 2 min 40 sec and another person runs the same distance in 3 min 48 sec. What is the time difference between them?

2461636 ug g5 ¥, P A 2 e 40 Ybs A v FifYa gft a9 oar § Sk guRt i 3 e 48 Adbs & 9uF gl 7F a1 81 S 9 9 BT iR 1 82

2 min 8 sec

A 2 firie 8 ¥
B 3 min 8 sec
3 firie 8 ¥
C 4min85ep
4 fiFie 8 YFs

1 min 8 sec

o 1 fiFic 8 ¥
Correct Ans : D

Subject : Mathematics

24’1‘285620 What should come in place of the question mark (?) in the following question?
3

3xoxix3=10575
4 2 2

Fraferiaa wa T weamEs fag () & W W =T 377 Siee?
2xorxix2=10575
4 2 2

1860
A

1860

1800
B

1800

1880
Cc

1880

1840
D

1840

Correct Ans : C

Subject : Mathematics

2;;'1‘2 85935 What should come in place of the question mark (?) in the following question?
2x3x13740="2

Frefafaa w0 & yeames o (?) F TF W @7 3T =?
%x%x 13740="2

A 1890

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/45
Page - 16



1890

1845
B

1845

1840
C

1840

1832
D

1832

Correct Ans : D

Subject : Mathematics

Q.No: 64 What should come in place of the question mark (?) in the following question?

2467018
Tof254 of 2=7
frafafad vy § nyares & (7) & RIF R 1 ST ART?
SE254T o=
14.275
A
14.275
15.875
B
15.875
18.375
c
18.375
19.285
D
19.285

Correct Ans : B

Subject : Mathematics

QNo: 65 ' The value of (81 is:

2467115
S FTAAS
27
A
27
81
B
81
343
C
343
243
D
243

Correct Ans : D

Subject : Mathematics

Q.No: 66 There are two numbers whose sum is 38 and the difference is 2. The larger number is:
2467128

2 Tt €, fomet dn 38 SiR SicR 2 B1 91 = B
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18
20

20
22

22
16

16
Correct Ans : B

Subject : Mathematics

Q.No: 67 The difference of the ages of two men is 4 years and the product of their ages is 165. What are the age of both men in years?
2467371

g1 eI B IW &1 3R 4 99 § SR IADI IY BT VAT 165 31 ST SeHidl o 39 af & @1 82

15, 11
A

15, 11

11, 16
B

11, 16

16, 12
C

16, 12

5,31
D

5,31

Correct Ans : A

Subject : Mathematics

Q.No: 68 Dhanu's present age is four years less than Priya's present age and the ratio of their ages is 3 : 5 then how old is Priya?

2467398

o B T g R &1 adAF Mg A IR 3 B § T ST 3R] &1 39 3 : 5 ¢ o U feaq af @it g2

3 years
A

3qf

4 years
B

4

5 years
C

5 a§

10 years
D

10 9

Correct Ans : D

Subject : Mathematics

Q.No: 69 One diagonal of a rhombus is 70 cm and the distance of this diagonal from either of the outlying vertices is 27 cm. The area of the rhombus is:
2467626

TP IHEgES ®1 0@ faauf 70 Ift § 9IR 39 ool 31 foreht +ff ot o1 3 gl 27 39t 31 Tvegds &1 89a 7
A 1800 cm?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/45
Page - 18



1800 &=i2
1836 cm?

1836 w2
1890 cm?

1890 w2
1990 cm?

1990 %2

Correct Ans : C

Subject : Mathematics

Q.No: 70 The valie of /0.36 will be:
2467915

036 BTHAM BITE

0.3

0.3
0.03

0.03

0.9

0.9
0.6

0.6
Correct Ans : D

Subject : Mathematics

Q.No: 71 25¢

2467969 222 -
f324 1s equal to:

256
§£$amﬂi

25
77

25
77

0| m

0lm

35
71

35
71

25
72

25
72

Correct Ans : B
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Subject : Mathematics

(222\16%07123 i of the square of any number is 121. What is the number?

ﬁ%;ﬂ;hgn%iaﬁaﬂgaﬂn121%|agxﬂgnau1%7

29
A

29

70
B

70

22
C

22

21
D

21

Correct Ans : C

Subject : Mathematics

Q.No: 73 The length of the sides BC and AC of a right angled triangle ABC are 6.5 cm and 5.5 cm, then find the length of hypotenuse.
2468039

& THH Y ABC 3 Yelisfi BC iR AC F da1g 6.5cm 3R 5.5¢cm , & HUf &1 To1E 1 Siforgl

7.5cm
A

7.5 9

8.5cm
B

8.5 &

9.5cm
C

9.5 4t

10.5 cm
D

10.5 It

Correct Ans : B

Subject : Mathematics

Q.No: 74 The area of a triangular garden is 1600 square metre. If one side is 64 m long and the other two sides are equal in length, the length of each equal side is:
2468213

wF RYSeR iR @1 dawd 1600 9 fiex 31 afe va o 64 1 wdl B SR o & e 9uH darE # €, @ U GUH Yo $ A6 B¢

60.36 m
A
60.36 T
58.32m
B
58.32 7
59.36 m
c
59.36 T
48.72 m
D
48.72 7

Correct Ans : C

Subject : Mathematics
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Q.No: 75 The sum of three consecutive odd numbers is 57. Find the smallest number.
2468304

7 ST fawm Temsht &1 4T 57 §1 B W Td S|

17
A

17

19
B

19

21
C

21

15
D

15

Correct Ans : A

Subject : Mathematics

Q.No: 76  Analysis method is advance in which method of the following?
2468544
(I) Known to unknown

(II) Unknown to known

foreawor fafy fofafaa & 3 foa fafy & ofm 32
(1) 919 ¥ o[

(I1) 391 9 1d
Only I

Fad 1
Only II

Fad II

Both I and II

I 3R 11 S
Neither I nor II

AW T ARAR 1T

Correct Ans : B

Subject : Mathematics

Q.No: 77 On the map 3 cm shows 120 km on the ground. Then find the value of 1800 km on the map.
2468586

THRE R 3 F.10 9 W 120 .50, 3 i@ 31 & ok R 1800 .. &1 A @ B0

45 cm
A

45 §.at

35cm
B

35 #7f

25cm
C

25 ¥4

15cm
D

15 ¥t
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Correct Ans : A

Subject : Mathematics

(2241\1609 67287 The ratio of 8 months to 1§ years is:
8w a 1§a€m:ﬂgﬂra%‘:
11:21
A
11:21
2:5
B
2:5
7:11
Cc
7:11
5:2
D
5:2

Correct Ans : B

Subject : Mathematics

Q.No: 79 is not a form of drill work.
2475605

_ fsaed @ SUAE R
A Oral
B Home Work
c Written

fofea
D Discussion

R - fom=t

Correct Ans : D

Subject : Mathematics

Q.No: 80 What is characteristic of the unit approach of curriculum?

2475906
oI P 3PTS SUNH 1 [ARITaT T 82
Child centered
A EISEdEC
Content centered
y B
Objective centered
s
D Teacher centered
Riegrep i

Correct Ans : B

Subject : Mathematics

Q.No: 81 “problem solving” as a strategy of doing Mathematics involves

2476015
TR R BT IO F T A wEen g F Wi ©
activity based approach

A
Tifafy smefd sR@

B estimation
AT

c extensive practice
U T

D using clue§ to arrive at a solution
THYF TR g F T G151 STy S

Correct Ans : A

Subject : Mathematics
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Q.No: 82 If 'x' means '-', '+' means '+', '-' means 'x' and '+' means '+', then 45 - 2 + 900 + 90 x 100 = ?

2480974
afe xR -, BT 4, - T orf X SR T o '+ ], @ 45 - 2 + 900 + 90 x 100 = ?
20
A
20
60
B
60
30
C
30
o
D
0

Correct Ans : D

Subject : Mathematics

Q.No: 83 Aims and objectives of Teaching are different from each other in relation to:

2481418
Rreror & Iy Sk SExa Fafafaa & gy § ue gw @ i
Time perspective
A
Ty i
B Purpose
c Nature
D All of the given option
T gu it fawe

Correct Ans : D

Subject : Mathematics

QNo: 84  Test jtem discriminates 100% when its value for discrimination is?

2481677
3T 3TMSTH 100% TATIIT FRll & oTd ST o (ol ST 703 67
0.30-1
A
0.30-1
1
B
1
0.30
€ 0.30

None of the given options

b U gu i R 33 3 78
Correct Ans : B

Subject : Mathematics

Q.No: 85 "“Tall shape of Mathematics’ mentioned in NCF, 2005 refers to

2481856
TR, 2005 # afvfd "G 61 e MER’ Wehfa Hrar g
solving challenging problems
A T SEel BT FHYE
creating Maths game
° o e
providing hands-on experience
¢ SR 3THE TS S
D building of one concept on other
U SqYROT BT gER W

Correct Ans : D

Subject : Mathematics

Q.No: 86 Student’s learning difficulties can be best addressed by
2481884
el o Ire 3 PR BT TS ST JHIH SHD GRT AT T bl ©
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A Advising them to work hard
I F AT B B TG
Suggesting private tuitions
Freht g 1 e
Supervised study in the library
AT # A e

Remedial teaching
SUARTES FRIgor

Correct Ans : D

D

Subject : Mathematics

Q.No: 87 Achievement test are

2482522
St wliemn §
test of minimum performance
A YATH UERH BT TS0
measures both cognitive and non-cognitive outcome.
g YIS SR IR-UIHIS ST TfRorHT Y A 31
test of natural performance
¢ TPl We=i F1 TRieor
D test of maximum performance
ST Eaesit]

Correct Ans : B

Subject : Mathematics

Q.No: 88  Which of the following activities is meant to enhance problem-solving abilities of students of Class III?

2482070 Foffed § 3 o1 & TR Sar 111 & S 3t TR sl B sgM ¥ fw 32

Conduct an interclass quiz in the class on ‘numbers and operations’
3 w1 el ol Sl o e e o) oo a1

A worksheet containing problems on four basic operations like—Find

25 x 34, 451 + 11, etc.
B

o gohRile ol aR gRard ol W aew 9 € 98— J9 3% 25 x 34, 451 + 11, 3

A crossword puzzle containing clues for all key terms learnt like even humber, odd nhumber, composite number, prime number, etc.
¢ e e et TRch Rt el e et SR e, R i, S T, o T, ot 3 g e 8 31

A group project : How the students of primary wing shall be distributed equally in four houses (house system of school) so that every house has
D talented students from sports, arts, cultural and academic activities?

T 9gg uREISHT: Wi i & o 9 9R Wesl (Ipd @ 6 o) H wHH w9 H9 fafd i o @il ) W & 9, T, seiie R Qe wiafafid & i o gz

Correct Ans : D
Subject : Mathematics

Q.No: 89  The part of the mind that is beyond awareness is called the

2482815
T 1 G YT S SR~ § W 8, HET &
Unconscious
A
LGS
B Conscious
Post-conscious
C
R CGRCER]
D Pre conscious

Correct Ans : A

Subject : Mathematics

Q.No: 90 The description of a person’s character implies

2482817
foreht safekr & e & faavor T aredd §
A The use of rating scales.
£l
The use of multiple observers.
B ar
c The use of situational testing
Ruforsra vl &1 IwRT
D Judgement about the desirability of traits

e Bt
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Correct Ans : D

Subject : Mathematics

Q.No: 91 Vertical distribution of different species occupying different levels is called-

2469370
Tt Tl o fafirs gonfodi & €19 arelt HfeR R 1 gl o 8
Nutrient cycling
A
Gi¥e @ 9w
Productivity
B
JAIEHar
Integration
C
TR
Stratification
D

R =

Correct Ans : D

Subject : Environmental Study

Q.No: 92 If a population has higher number of younger age group individuals, it is because of:

2469589

afe ot wien § o0 31y 9 & cafdadl it TE ol 8, At SUHI FRUI B:

Long life span and low birth rate
A

ST SiaH P SR HH TFH R

Short life span and high birth rate
B

7Y i P 3R S T R

Short life span and low birth rate
C

g ofiae 1 IR P T R

Birth rate is equal to death rate
D

THRIG R P RER &
Correct Ans : B

Subject : Environmental Study

Q.No: 93 Who was the founder of kindergarten method?

2470224
fEsume fafd 1 wfaured e far
Froebel
A
e
Montessori
B
A
Cook
C
EEd
Dalton
D
Sleed

Correct Ans : A

Subject : Environmental Study
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Q.No: 94 Who said ‘play is a natural instinct’ ?

2470358
QTP @IS waRi 3 e wet ur
Caldwell cook
A
PlSad TP
Piaget
B
s
Thorndike
C
YRS
Maria Montessori
D

A dreed

Correct Ans : A

Subject : Environmental Study

Q.No: 95 Why does a teacher encourage her students to read newspapers and magazines in EVS?
2470507

o Rifdret s e @) Sy & wumER w6 R uResh 3 ued & e a4t tienfed Fed §

There are interesting resources easily available

A
Tg TSI S ST & U ¥
It helps the students to connect with their own world
B
Tg el 31 ST o YR A s F AT FRA §
It helps the students to be independent
C
Tg et 1 wacd M & Hag #jd §
It makes students competitive
D

g Tt 3t wftreaelf s &

Correct Ans : B

Subject : Environmental Study

Q.No: 96 Which all factor determines the structure or a design of a house?
2470581

PH U BRE W P I A1 3oz &1 Fefia w=a 82

Availability of water

A
T Bt e
Weather, climate and availability of material
B
Hrew, Siearg SR Gl 3 Suam
Availability of fertile soil
C
IS, gt Bt Sudsar
Money
D
w®

Correct Ans : B

Subject : Environmental Study

Q.No: 97 The mean maximum temperature for January at Thiruvanantapuram is as high as;
2471944
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Rearaqd ¥ sadt & R sha siftiban aoar e siflis 3;

50 °C
A
50 f&ht iy
45 °C
B
45 i AT
31°C
c
31 & afckmw
60 °C
D
60 & fjmw

Correct Ans : C

Subject : Environmental Study

Q.No: 98 At higher concentrations of which chemical, flower buds become stiff and hard, eventually makes them fall off from the plants;
2472133

g T Ft S Wil R, Bl 3 Biedl W IR Ted 8 o €, Rl sida: § qiel & R St §;

Carbon monoxide

A
T ARsTRTES
Carbon dioxide
B
FTE SRS
Sulphur dioxide
(o4
TeHR STFSHTS
Nitrogen dioxide
D

ECIo SIRHlTaRsS
Correct Ans : C

Subject : Environmental Study

Q.No: 99 The word tsunami is derived from two words

2472195

G R A TR A MY

tsu- harbour nami- wave,
A

- TR - R

tsu- big name-water flow,
B

Y- ST - TG

tsu- big name-wave
Cc

G- T TH-TER

tsu- coastline name- wave
D

Y- W% °C BT TH- TR
Correct Ans : A

Subject : Environmental Study

Q.No: 100 The technical term for a cat lover is an?
2472357

forceht Ot & T aepiat Wee & 2
A biophile
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-3t

ailurophile
B

LGUEE)

cynophile
C

AR

halophile
D

FeliwRa

Correct Ans : B

Subject : Environmental Study

Q.No: 101 What food gives you an unnaturally high burst of energy?
2472631

UG AT 40I5H F S ST sRarIfdds T § 3= el &ar 87

Fats
A
o
Protein
B
WA
Sugar
[
x|
Carbohydrate
D
PR

Correct Ans : C

Subject : Environmental Study

Q.No: 102 Giftedness in children can be attributed to-

2473024
el 7 ORI & BROT 8 Wbl §
An interplay between heredity and environment
A
AR iR AR & fE T aa:
A resource-rich environment
B
T U G aIemaR
Successful parents
C
Fw e fua
A disciplined routine
D

T e feereraf

Correct Ans : A

Subject : Environmental Study

Q.No: 103 Where is the U R Rao Satellite Centre (URSC) currently located?
2473936

T 3R G JeARe Jex (FHRTIRT) FouH F Fel fud 82

Thiruvananthapuram

frearaga

B Bengaluru
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Bengaluru

Guwahati
C

TRt

Hyderabad
D

EEAC

Correct Ans : B

Subject : Environmental Study

Q.No: 104 The asteroid tracking system ATLAS is an asset of :
2474224

&5Ie Sfa gl veer™ (ATLAS) fouan dufa 82

DRDO
A
SR LS K
ISRO
B
Bk
NASA
C
L
SpaceX
D
W

Correct Ans : C

Subject : Environmental Study

Q.No: 105 Which of the following is not a factor of soil formation?
2475676

frafifa & & SH-91 g1 fmio & eRe 1 82
Time
A
g
climate
B
Sy
organisms
C
Kict
soil roughness
D

ﬁ#@ﬁw
Correct Ans : D

Subject : Environmental Study

Q.No: 106 Which of the following is the smallest river of India?
2475733

FafifEa # 3 S YRd ) 999 S 7 82
Ganga
A
bl
Godavari
B
e
C Arvari
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R

Umangot

e
Correct Ans : C

Subject : Environmental Study

Q.No: 107 1In India, hydro power plants of or below capacity are classified as small hydro.
2475739

URAH, A1 I S &l F O [dgygd G SI ag Faidggd & w0 B qiilgd fhar S g

25MW
A

25MwW

30MwW
B

3o0Mw

35MwW
C

35MwW

50MW
D

50MW

Correct Ans : A

Subject : Environmental Study

Q.No: 108 India has decided to participate in OECD Seed Schemes for which of the following categories of crops?
2475752

HRd A Frafefad & F few Jult o vl & o S s diemrell & wm o @1 Fur fem 2

Cereals only

A
e S
Vegetables only
B
e et
Maize only
C
e HIBT
Cereals, maize and vegetables
D

SIS, foorat, FaHT
Correct Ans : D

Subject : Environmental Study

Q.No: 109 Rabi crops are sown in which of the following months?

2475820
&t Y o Fafafea # 4 e gl # &5 g2
From April to May
A
i & 7S 7
From May to July
B
o g a6
From June to August
C
I Y g B
D From October to December
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R ¥ AR 7
Correct Ans : D

Subject : Environmental Study

Q.No: 110 Which of the following is not a classification of fertilizer?
2475946

frofafea # 3 1 Id® @1 e &1 87
straight fertilizers
A
WA TR (LT BEaAIR)
domestic fertilizers
B
WY SRS
mixed fertilizers
C
afa edve
complex fertilizers
D

Ry IRS
Correct Ans : B

Subject : Environmental Study

Q.No: 111 Which of the following is not a type of Aquaculture?
2475966

1. Fish farming

2. Algaculture

3. Mariculture

FufiRed & B T TSIheR S ThR T8 87
1. Tl e

2. Jar e

3. AP BN

only 1

Faa 1
only 2 and 3

Faa 2 AR 3

only 2

Faa 2

neitherl nor 2 nor 3

AL ARTG 2RI 3

Correct Ans : D

Subject : Environmental Study

Q.No: 112 Seed drill is used with the help of which of the following?
2475970

1. Animals

2. Tractors

Choose the correct code -

Tis 5@ &1 Wi o 7 3§ fve! weraa § fear o 32
1. SR

2. &R

el BIS T -
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A Only 1

Faw 1
Only 2
B
Faa 2
Both 1 and 2
C
Al 1 3R 2
Neither 1 nor 2
D

TALRIH2

Correct Ans : B

Subject : Environmental Study

Q.No: 113 In which year international t20 was introduced?

2476522
g 20 fpg v = fam mm
2003
A
2003
2004
B
2004
2005
c
2005
2006
D
2006

Correct Ans : B

Subject : Environmental Study

Q.No: 114 Which player holds the record to score the fastest century in test cricket?

2476524
T fipde # T AW W T 1 RS o et & 7w 87
Adam Gilchrist
A
T e
Virendar Sehwag
B
AR FearT
Brendan McCullum
Cc
s Agem
AB de Villers
D
T fSfaRmt

Correct Ans : C

Subject : Environmental Study

Q.No: 115 When was Madhya pradesh Krida Parishad restructured?
2476589

T YR higl URSE $1 GTeA oo faar mr ur?
30th June, 1981

30 %, 1981
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B 1st September, 1984

1 fRydeR, 1984

13th June, 2010
C

13 T, 2010

1st September, 1960
D

1 e, 1960

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Demonstration method is less time consuming. This statement is
2477163

weu AR &7 9 o @ 81 T BT R -

True, because the teacher performs it

A
T &, i Res R Fa e
Untrue, because the students perform it
B
3, P OF T8 R §
Untrue, because the teacher takes time to explain to all the students
C
I, FIp Riwovs T+ GHT B THm § 99T dar &
Untrue, the process is time consuming
D

3, RRaT B T @ §
Correct Ans : A

Subject : Environmental Study

Q.No: 117 Mark the role of the teacher in facilitating effective group discussions.
2477303

Ty aR == 1 g T B e 3 e 1 fafga $3

Provide an opportunity for each student of the group to become a leader.

A
g & TP B B! T4 YHE S BT Ha¥R UeH HI
Not to act as a consultant to the groups and help
B
THET SR TETa & R YeEPR & w0 & B TeT BT AT
Not ask “why” or “how"” questions
Cc
e B2 el e
Instilling fear in students
D

BE A R dar B

Correct Ans : A

Subject : Environmental Study

Q.No: 118 What are protected areas?

2477800

e & 1 §?

Areas created for the safety of VIPs
A

Jremsdt i JRan F g T T &

Areas bounded to use animals for studies
B

S & I et &1 SudT Ha & g e &
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(o} Areas demarcated to protect our flora and fauna and their habitat

TR FRaterdl SR Sfidl SR 3% 3imary @1 T & R Ruffa &

Limited areas where hunting is allowed

Wi & w5t RIFR 1 ool §
Correct Ans : C

Subject : Environmental Study

Q.No: 119 The settlements in which houses are spaced far apart and often interspersed with fields are called what?

2477932

¥ it o AH qX-R 99 B 8 § 9k SR I A fR 81 €, = weem 7

Dispersed Settlement
A

T S

Compact Settlement
B

e Fit

Nucleated Settlement
C

T S

Congested Settlement
D

SfarE a%it
Correct Ans : A

Subject : Environmental Study

Q.No: 120 What is the meaning of the term Habitat?

2477972

AT AT (R faee) eTeg o = 31ef 87

A specific area in forest where only wild animals live
A

et 7 o fafkre & St e STl TR e §

A specific area of forest where only birds live
B

o &1 0 AR & ol Faw vah ¥

A specific place in sea where no fishes live
C

Tz 7 v R WA W1t S "o T Tl §

Physical environment in which an organism lives
D

e araraRor g T g wEar g

Correct Ans : D

Subject : Environmental Study

Q.No: 121 The types of competition are ----

2473690
TR & e UHR Bl
Three
A
gt
Five
B
LIl
C Six
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Two

U

Correct Ans : B

Subject : Child Developement

Q.No: 122 “Personality is the individual’s total behavior”. This definition was given by -
2473836

R BT Il HAER B Afckied Hgardl o7 | g URH ... & gr1 <t 7wt ot

Munn

L

Wood worth and Marquis

o T URBY
Dashiel

ShRaw
Guilford

s

Correct Ans : B

Subject : Child Developement

Q.No: 123 The literal meaning of “psychology” is

2475320

"R 1 Wfsde onf §

Science of behavior and mind
A

HAER IR 77 P R

Science of soul
B

STAT 1 R

Science of consciousness
[

= BT g

Science of temperament
D

THE &1 9
Correct Ans : A

Subject : Child Developement

Q.No: 124 Which of the following may occur in Expressive Language Disorder?
2475373

Fafifed & F $F 1 ad U RAeR (TeiRE Tas asiieR) der o) I 87

Ample amount of speech

A
YGT HTH0T
Difficulty in learning new words and finding right words
B
Y TS BT IR SR Tt Xeg Wer H i
Difficulty in writing
C
forg™ & fewa
D All of the given options
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few T i e

Correct Ans : B

Subject : Child Developement

Q.No: 125 Which of the following states that different motives are prominent in the child at different stages of growth?
2476176

Fofifed & @ SF-u1 gara § 5 e % faf =Rl & a2 # smav-sra weg Agagel 8 82

Theory of personality dynamics

A
fdaa T (TRERK SrAie) @1 R
Theory of psycho sexual developments
B
! Yegerd far @1 Rigia
Theory of structure of personality
C
R e 1 Rigia
Motivational theory
D

W Rigfa

Correct Ans : B

Subject : Child Developement

Q.No: 126 Which factor does not affect growth and development of a child?

2476273
PH-T RS 9 Pl gy IR SR B wifaa 761 a=ar g2
Traits and characteristics inherited
A
AR Ao AR fawany
Single and multiple births
B
e SR THI® S
Nutrition received before and after birth
C
S ¥ Tedt SR e 7 T dreor
Heredity and environmental characteristics
D

TR 3R yafaRoly frdwang
Correct Ans : A

Subject : Child Developement

Q.No: 127 A teacher usually assigns different tasks to different students. She believes that

2476303
AR R T e R faftma-fafie faenffdl « fftm-fafie o Ao 8| I7e! aron §
students do not like the same kind of work being assigned to all
A
Trenfidi = 7 weig T 5 W B oo @ Sar o R o &
there exist individual differences between students
B
Torenf¥fa ¥ cafemra faftrer i ¥
it promotes competition among the students
Cc
Tg fraiidi % e YHiea B wgrl odl 8
with this method, the students will not be able to copy each other’s work
D

< R, fremlf w6 TR & o 1 7o T8 B 95

Correct Ans : B

Subject : Child Developement
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Q.No: 128 Match List I with List II and select the correct answer using the codes given below the lists.

2476693
List I Names) List I (Terms)
A. Vygotsky 1. Iconic and metaphoric language
B. Bickerton 2. Language Acquisition support system (LASS)
C. Mc Neil 3. Inner speach
D. Bruner 4. Proto language

g1 B gR 1 F Y e F R gRET F AR R T Siey &1 v w98 IW B 791 A

@) | (e

A TN | 1. 3ESITaE 3R AamRS s
B.a5HeA | 2. dder viFafone aniE R (Lass)
ok:cicy 3.5 T

D. §R 4. grer dvasr

A|B|C|D
11234

A|B|C|D
3(4([1]2

Correct Ans : D

Subject : Child Developement

Q.No: 129 Effective learning takes place when :

2476870

Tt ST e g § W

The teacher is strict
A

e w&T 9 ¥

The student is willing to learn
B

BH W & R TR 9 §

The student is sent away from home
C

BH B R Y AT T G

The parents' are strict.
D

TTeT-forer g 2 &

Correct Ans : B
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Subject : Child Developement

Q.No: 130 Attitude construct by which among the following component?

2477007
TR Fffea & § e gee g1 Afta g &2
Prejudice
A
TeRom
Stereotype
B
e
Psychology
Cc
T
Both Prejudice and stereotype
D

o 3R = 2R

Correct Ans : D

Subject : Child Developement

Q.No: 131 A teacher gave a problem in a class for the learners to solve. He found one child P solved it very easily. What should the teacher do?
2477052

& e A Rignial &1 ga s & fau e § to o (Wem) 6 3901 381 & 06 5= P, 7 5 9gd S 3 g I ) Rigre 31 @ d=en aifew?
Appreciate the child P

A
P & TN FX
Ask other children to solve the problem as quickly as P
B
31 T D1 P, Rt et Toed &1 Ty T R Fe
Increase the task complexity for P
C
P ¥ T g $t wiiea send
Reduce the task complexity for the whole class
D

Ot T & foT ww 3 Sieddr 1 HH B

Correct Ans : C

Subject : Child Developement

Q.No: 132 The existing Juvenile Justice (Care and Protection of Children) Act came into force from 1st January, ____ -

2477672

Tl fFRiR g (arae 31 3 SR TRewn) sfdfas, 1 oFad, J T gen

2014
A

2014

2015
B

2015

2016
C

2016

2017
D

2017

Correct Ans : C

Subject : Child Developement

Q.No: 133
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2478104 Which of the following statements is/are NOT true?
i) Integration calls to stop segregation of children with disability for the purpose of education
i) Inclusion calls to stop segregation of children for the purpose of education

Choose the correct code

Fofafed & 3 B9 I3 9 T T8 /22
i) TR e & IeRT I faFsai S=t & JUIH B A% BT MGH FIT &
ii) TIARE e & 3T § Tl I GUTHRUl FY AD BT NG Bl §

BEEICE:C]

i) only
A

i) Faq

ii) only
B

i) $ad

both i) and ii)
c

2l i) 3R i)

Neither i) nor ii)
D

Ty A ii)
Correct Ans : D

Subject : Child Developement

Q.No: 134 Which of the following are the reasons for the deterioration of the performances of the underachievers in the school?
2478392

i) Pressure for performance by the parents

i) Over expectation from the school

iii) Monotonous school activities

iv) Diversions due to TV

Choose the correct code

5 A5 B A FRU G H FH IUaly Ud HA 16l & YekE F R1ae &1 SR g2
i) Il gRT e & R garE

ii) a0 B b

iii) T € SRit Tpw @t Tt

iv) E1dt & BR fagad

GBS I

i) and ii) only

Faq i SR i

iii) and iv) only

P i SR iv

i), ii) and iv) only

Fad i, ii 3R iv

i), ii), iii) and iv) only

Fad i,ii, il 3 iv
Correct Ans : D

Subject : Child Developement

Q.No: 135 Human beings normally have
2478869

R R AT S U ®

A 46 chromosomes in each cell
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TS PIRGT H 46 TOGA

23 chromosomes in each cell

B

VAT BIRGGT A 23 TRE

46 pairs of chromosomes in each cell
C

TAT HIRIPT § ORGT & 46 SIS

Spermatozoa in females and the ova in males
D

Tfgarsl & g1y ofk gest 7 sfe1g
Correct Ans : A

Subject : Child Developement

Q.No: 136 According to Piaget as a child gets older his or her schemas become more

2479070
TS % SER S-S T T97 T STl ], ISP Wb W T SR Sl 82
Confuse and Sceptical
A
it IR SRl
Large and Small
B
T 3R Bler
Limited and Narrow
C
Wit o waref
Numerous and Elaborate.
D

e AR |
Correct Ans : D

Subject : Child Developement

Q.No: 137 According to Piaget, the Concrete operational stage of a child is from

2479088
oS % SR, U T B I UHaIeTd SRl 9 J Hd db ghil 82
From birth to 2 years child
A
SHE 2 T F T T
2 to 7 year
B
2¥79f
7 to 11 year
C
7¥119¢f
12 and up
D
12 IR FW

Correct Ans : C

Subject : Child Developement

Q.No: 138 The Law of Use, under the law of Exercise given by Thorndike States that, “When a modifiable connection is made between a situation and a response, that
2479332 connection’s strength will

yfegd gRI fa T engrg & A & qgd ST &1 R FEdl § 31 'S U R ofR ufafear & e v uRadHia &9 91T € ofR Iivene SiawiT S 81 Wk g O 39 T @t e

Will Increase
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B WIiIl becrease

YT St

Remains Steady
C

R @ h

First decrease and then increase
D

e gt SR e wht

Correct Ans : A

Subject : Child Developement

Q.No: 139 Which of the following traits does not characterize schools in progressive education?

2479464
g A § FE-T1 7o wfaeia Ren § faenedt @ fadvar T8 32
Each school should adopt an activity program.
A
TS a1 U Ty HrRiwT T AR
Each school should operate on the assumption that education is something that should not be imposed upon the child from the outside but should
instead draw forth the latent possibilities from within the child.
B
TS Gd B 39 YR R S8 1 & 5 e 1o T 997 2, B w53 928 w78 dhar o =iy, 5 72 % faw @ fdt el & s @ ek
Each school should believe in the democratic concept of individual worth.
C
e e &) ARITa Ied P Qipdiiae SayRon § faurg H< =@ty
Each school should have standard instruction and assessment for all students.
D

W% Wd # v et & R aFe PR SR gwaie g e

Correct Ans : D

Subject : Child Developement

Q.No: 140 Who among the following thinkers wrote “To read without thinking is like accumulating building materials without building anything”?
2479560

Frafifea @ 4 f fame 3 e @ o H-we) ue1 (971 $6 §7T Wor- oAl s 6 ot 32

John Dewey

A

it fdt

Jean Jacques Rousseau
B

i - S =

Sri Aurobindo
C

ot sRfefdy

Rabindra Nath Tagore
D

e BIgR
Correct Ans : D

Subject : Child Developement

Q.No: 141 According to Gardner, which of the following is one of the core categories to explain intelligence?
2479757

1. Ability to generate creative knowledge and output for the society one lives in.

I1. Ability to solve problems in day-to-day life.

II1. Ability to produce new knowledge.

TR ¥ R, RuRied § 3 B o 3 e oo ard wgg A 3 9w 8
1. for ot A 1 Yo § IU% T Yaiers I SR S SaE R 3 avaar (T |
11. 3R Siiae & wwremell &1 ga S 1 A
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111, =71 IH ST A SI Al

OnlyI
A

Faa I

Both I and II
B

1 3R 11 SN

Both II and III
C

11 3R 111 31

1, II and III
D

it 1, 11 &R 111
Correct Ans : D

Subject : Child Developement

Q.No: 142 W. Mcdougall classifies innate instincts into three sub-categories. Which of the following is not one of them?

2480074
Sog sl A e Waoft &) diF Iu-2fri & avifgra foran R Frufafed & @ o9 590 9w 78 32
Interactive aspect
A
HATRGTHD TG,
Cognitive aspect
B
WP T6
Affective aspect
C
THIGRIICH U8,
Conative aspect
D

HORIHAD U],
Correct Ans : A

Subject : Child Developement

Q.No: 143 Discrimination for the roles of men and women starts from

2480126
o o Afgaell @ ofirel Hfw dewd__ AGE T EI
Family
A
REr
Strangers
B
TSI ST
Life partner
C
Site el
Peer group.
D
e & W

Correct Ans : A

Subject : Child Developement

Q.No: 144 Under which conditioning the response is under the control of the experimenter which he wants to condition?
2480154

5 3% ¥ o wiafear wime & Frao # gid ¥, B 98 srgi w1 T 82

A Instrumental
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pein)

Classical
B
TR
Mixed
C
[EiES)
Conditional
D
G

Correct Ans : B

Subject : Child Developement

Q.No: 145 Which of the following is an object-oriented emotion that aids in cognition and learning?

2480278

Frafafea # 3 $19-30 TG-S e 2, S srgyfa ofR siftem & Weraar St 82

Quietness
A
ifer
Gratitude
B
Pl
Desire
C
BT
Joy
D
i

Correct Ans : C

Subject : Child Developement

Q.No: 146 Spearman's two-factor theory proposed that intelligent behaviour is generated by the

2480325

TR ¥ 'Q-5RS' Rigid 7 wkanfad a1 & gfeam oaer ama gfs &

Coghnitive ability

A
YD &l
General factor
B
A HRD
Sensitivity
C
FagTfterar
Analytical intelligence
D

Rxdvoras g
Correct Ans : B

Subject : Child Developement

Q.No: 147 Most important charateristics of a teacher is
2480759

e &1 Fe wecayul fagvand 8
Deep knowledge in his subject
A
9% vy & g I
B Methods of teaching
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Rrer & P

Ethics
C
A
Personality
D

faaa

Correct Ans : B

Subject : Child Developement

Q.No: 148 Sudden perception of relationship between the learner, the goal and the intervening obstacle is termed as:
2482186

e, de7 3R TAT FA A1 Tprae & F9 HHRAE ool Y, HEA §:

Imitation
A
STDRUT
Insight
B
R
Intervention
C
[aatk]
Instrumentation
D

peicau
Correct Ans : B

Subject : Child Developement

Q.No: 149 HIV stands for:

2482207
THSHEG (HIV) 37 3 §:
Human Immunodeficiency Virus
A
T TSR AT
Human Infectious Virus
B
T TSR aERe
Highly Infectious Virus
C
FIEC SpTaRISR TRy
High Intensity Virus
D

T SRS IR|
Correct Ans : A

Subject : Child Developement

Q.No: 150 Which among the following refers to the absence of a particular part of the body

2482238
or organ, or a reduction in function of some part of the body?
0 e 3 TR & ity R a7 e Y SruiRifa, aryar TR 3 foddt wr @) srfemar § o @ 82
Impairment
A
effore
Disability
B
SR
C Handicap
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fasaimar

None of the given options

g e e # & B T

Correct Ans : B

Subject : Child Developement
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